INSTALLATION INSTRUCTIONS

O | Pendant & Surface

X1 (T-BAR SURFACE)

§

101959 T-Bar Surface Mount — Main Rail 2
101961 T-Bar Surface Mount — Track Rail 2
101960 T-Bar Surface Mount — Extension Rail 2
101977 T-Bar Surface Mount — Clamp 4
100-00035-14 #8-32 x %" Hex Washer Head Self Tap Screw 18
100-00037-14 #6 x 2" Hex Head Self Drill Tek Screw 8
100-00141-14 #8 x V4" Hex Washer Head SM Screw (Type B) 1

100-00114-14 ¥4-20 x %" Truss Head Machine Screw 2
100-00283-14 ¥-20 x 5” Round Head Machine Screw 4
100-00165-14 Y4-20 Hex Nut 1

100-00255-14 Y4-20 Keps Hex Nut 2
100-00008-14 #10 %" x %6” O.D. Washer 8
100-00126-14 ¥4"x 1%" O.D. Fender Washer 4
106895 T-Bar Surface Mount — 4"x 4” J-Box Strap 1

104032 Offset Surface Plaster Plate Assembly 1

101732 Surface Mount — Ceiling Plate 3

WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

US

Prudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data.
© 2015 All rights reserved - All products manufactured at: Prudential Ltg. 1774 E. 21st Street, Los Angeles, CA 90058

1of 8
10-30-2020



O | Pendant & Surface l\I

X1 (T-BAR SURFACE)

HARDWARE KIT:

<%
“,
“Z,,
“Z_
Sy -
2,
t,
%,
“Z "

%-20% 5" 2.
g«— Round Head "‘%
; Machine Screw 2N

®
14-20 Hex Nut =

G

14-20 X %N
Head Machine Screw

#8-32 x 2 Hex Washer
Head Self Tap Screw

#8xL"
Hex Head
Support Wire Self Drill
to Structural SN Tek Screw
4'x 4" x 1"
J-Box f\; .. ~fifj.
(BY OTHERS) i\@
oy,

Extension
Rail

#8 x 746" OD. & 8 \
Washer

#8 x 76" O.D. Washer

Mount j-box to bracket
with 4’ x 4’ J-box strap.

WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

US Prudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data.

20f 8
© 2015 All rights reserved - All products manufactured at: Prudential Ltg. 1774 E. 21st Street, Los Angeles, CA 90058

10-30-2020



O | Pendant & Surface l\

X1 (T-BAR SURFACE)

1. Drill 3" holes and cut t-bar ceiling tiles prior to installing fixture.

2. Usedrill pattern shown on t-bar tile mount hole plan view (below).

3. Placetiles in t-bar grid in plan view orientation shown.

4. Place mounting brackets onto t-bar in dimensional orientation shown on applicable t-bar mounting plan view.

PLAN VIEW (2'x 2’): PLAN VIEW (4’ x 4’):
020: 020:
—_— 37— —_— 37—
23%” 23% 23%
¢
I
6%
l 4 11%”
23% 1 b
5%"
1
4 . 1%6" +—— 8Ya" — 27 —— 13%" —
11 ) [1%
—11%6"— +—113%6"—
1%6" — —i 113%6”
) i 23%
J-Box Plaster Plate Cutout
......... 13 131%6"
< Drill 3" Diameter Hole l
9/16"H . %e”
030: 040:
—_ 23%" —F —_ 23% — —_ 23%" — —_ 23%" —
23%"
233%" + % 14"
4 4 -
10"
I 934"
778" : ‘ [
1%6" ———12%6 —— 2"——9"— 1%6” 17%6” 2" ——— 476"
233" 233"
+ i I
7" 876" " -
[* w1 , -
9/16” 2l 9/16" 2l 9/16”»—« H9/|6”
WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.
US Prudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data. 308

© 2015 All rights reserved - All products manufactured at: Prudential Ltg. 1774 E. 21st Street, Los Angeles, CA 90058
10-30-2020



0 | Pendant & Surface lJ

X1 (T-BAR SURFACE)

T-BAR MOUNTING

(2"x 2'): (4'x4'):
020: 020:
—— 24"T-Bar —— ——— 48"T-Bar Center ———
—— 24"T-Bar ——
18%"
T
5%
1
16%"
13%"
(4'x4'): (4'x4'):
030: 040:
———— 48"T-Bar Center ———— ——— 48"T-Bar Center ———
—— 24"T-Bar —— —— 24"T-Bar ——
15%" 137
[
8%”
l
24%" 32%"
§" =—— P

WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

US Prudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data. 40f 8

© 2015 All rights reserved — All products manufactured at: Prudential Ltg. 1774 E. 21st Street, Los Angeles, CA 90058
10-30-2020




O | Pendant & Surface lJ

X1 (T-BAR SURFACE)

FIXTURE PLAN:

020: / Top Parallel

Ceiling Plate

— 18%s" —

030:
2754 Angular Mounted Ceiling Plate
24"
040:
39 1%6”
475"
Diameter
Fixture
32"

WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

US Prudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data. 50f 8

© 2015 All rights reserved - All products manufactured at: Prudential Ltg. 1774 E. 21st Street, Los Angeles, CA 90058
10-30-2020



O | Pendant & Surface

X1 (T-BAR SURFACE)

§

1. Install pre-drilled ceiling tiles onto
t-bar in order shown on tile plan view.

2. Place brackets over dilled holes.
Be sure bolts are mounted through
first row of slots as (see detail A.)
bolts on first row of slots.

DETAIL A.

SEE CEILING PLAN VIEW
FOR CENTER DIMENSIONS
OF MOUNTING BRACKETS

Prg—.drille.d
Ceiling Tile Install bolts through
first row of slots

AN

1%2"x 2" Rectangular Cut Out
(See tile plan views)

Mounting

/ Bracket

m T-Bar Clamp
e

Oy

6

)

3. Align bolts with holes on ceiling tile.

4. Use %-20 hex nut and fender washer as tile elevation stops

Align j-box ceiling plaster with 1%2"x 2" rectangular cut out.

Secure brackets to t-bar with clamps or self drilling tek screws.

WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

Prudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data.

US © 2015 All rights reserved - All products manufactured at: Prudential Ltg. 1774 E. 21st Street, Los Angeles, CA 90058

60f 8
10-30-2020



O | Pendant & Surface lJ

X1 (T-BAR SURFACE)

7.  Attach ceiling plates to tile surface with
¥4-20 hex nut and % washers.

8. Ceiling should be in position shown on
fixture plan view.

J-Box Ceiling
Plaster Plate

Ceiling Plate —>

9. Make all wire connections.

10. Place fixture mounting pucks over
ceiling plates.

11. Rotate pucks over ceiling plates
(see detail B).

" DETAIL B.

Ceiling Plate

Mounting
Puck

WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

70f 8
10-30-2020

US Prudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data.
© 2015 All rights reserved - All products manufactured at: Prudential Ltg. 1774 E. 21st Street, Los Angeles, CA 90058



O | Pendant & Surface l\

LED & DRIVER MAINTENANCE

8-32Bolt — >

Uplight LED
Location

Plastic Spacer -—»[

832 Nut —————> =

Downlight . o
LED Location

DO NOT remove
mounting straps

Gear Tray
3 per fixture

WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

US Prudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data. 8of 8

© 2015 All rights reserved - All products manufactured at: Prudential Ltg. 1774 E. 21st Street, Los Angeles, CA 90058
10-30-2020



